CHPS T

iy
Il
iz}
I
i

Ecto|2 E5 - DIN 2079

EH 23100.
-~ MZ 4%
- - mME
= B2 EH ZERE| 28, EH FERAEl, EMRE], AotriE|
|
|
a#
dg dg dg
o N
K v 3
i
[
d, d7
(-] (-]
22 L5 40,
o~ ~N
n n
|
k k
ag2 a3
FEEE
AEE = ®|%= 23588 i HEHS,
H{S
H= K b, d, d, g h I, 1SO 4762
h5 0,1
[mm] [mm] [g]
ATE BIC #3 30-608, AH -1 1
30 16,5 15,9 6,4 10,4 6,2 16,0 - M 6x 16 25 23100.0030
40 19,5 15,9 6,4 10,4 6,2 16,0 - M 6x 16 31 23100.0040
45 19,5 19,0 8,4 13,5 8,3 19,0 - M 8x20 38 23100.0045
50 - 55 26,5 254 13,0 19,0 12,3 25,0 - M12 x 25 85 23100.0050
60 45,5 254 13,0 19,0 12,3 25,0 - M12 x 25 179 23100.0060
ATIE Fl= M2 608,B -8 2
60 | 455 | 254 130 19,0 12,3 25,0 - M12 x 25 140 23100.0160
AFIE 5= #2 30508, C - 13
30 13,5 15,9 6,4 10,4 6,2 24,5 55 M 6 x 25 30 23100.0230
40 16,5 15,9 6,4 10,4 6,2 245 7,0 M 6 x 25 39 23100.0240
45 17,5 19,0 8,4 13,5 10,0 26,0 7,5 M 8 x25 47 23100.0245
50 24,0 25,4 13,0 19,0 12,3 29,0 11,0 M12 x 30 89 23100.0250

NHALDER 315





